| | Reg. No.: ...
D 1003 | Q.P. Code : [07 DC 03]

@ (For the candidates admitted W.oB 2007 ob&mummv
m\ B.Com. DEGREE EXAMINATION, DECEMBER, 2019.
@ | . First Year

Part I1I — Oo.BEm_.dm
BUSINESS ECONOMICS

Time : Three hours o Maximum : 100 marks
.»P:mimn any Eﬁw questions.
(5 x 20 = 100)

1. Define w:m_nmmm Economics. Explain in detail gm
nature and scope of business economics.

cuanile Gur@mettsrmd - eegum.  efMwmung .
AummerngnysHen  sereio EBB_E Gopresnd  Lpd
efleufGseyn. -

2. Define the Elasticity of Demand. Elucidate the .

_ various types of Emmﬂn:ﬁ of Demand and how do

you measure arm various SGmm of Elasticity of.
Demand.
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2001 | ¢

5@%6@@ @wan
Eﬁa@o@ _a_.euuou: 9@—%6.566 GeoFuounire mEFFs

"aWODUT [RUOI}BU
Sumemolec Jo spoyjsm™ snowBA 9y} ute[dxy

‘qifewgLsge wuro|yFe (@EN weowuw(9)
powge wimewre Bregen Qg Sw@JG_j@@
DU LI HR S |(FE) PR EILB UL ©TIENRUS|Ge

- Aorfod Jutorrd jo sadA) snotrea oﬁ noqe rejop Ut
urejdxe pue Aorjod Suwtid jo saaroalqo oy ;g

[

£001'd z

‘$@puo|ge ﬂ@JEG Gag@nneegnueyg
Gurorors  Gpyorep g mwge  w@Fuen
DS fiy wpnae1e Feds HIUNG YT PUNDPE
uredxq] uoynedwo) snstodouoy
JO aInjonxis jeydew Sy} JIIPUN  PAUTIIILILP

fyrpowrwoy ® Jo. jndmo pue eotd ST MOK

_m..@m.mEm@ LeWRTURTlIe _ﬂ@._ﬁu EFONiines

wwehnme e Fwds | weumzere  Grenen

"2INJONIIS JONIBIA

o .m&a yoee JO SaInjedj 9Yyj jnoqe SsnosIp pue

aInona)s 1eqIeiy] Jo sodL) JustefJip 9y} sjerswmnuy

‘wewruBe g E@wmﬁbtw T@gFun N wneme
SnGs Jwwes ouluee  Qunemse Frig-a
AR ; | O #rid

"uorjouny uoryampoxd joejye Yorym

81030€] wﬁ aquIosa(] ;uoroun] uononpoxd s 1B8YM

‘2@@10\g9 ¢ Muro@Fewie
Bureres Fwie> ¢ 101019 ebasmb.e:rw JuLMBEEBILINS

‘urepdxy n..mﬂn.,ﬂ:m.noﬁzwcoo ayq) aanseaw nok
op MO jen[dins JemWInsuoy) Aq UBSW NOA op TeYM



. Reg. NO. & oo
D 1002 T . Q.P. Code: [07 DC 02]
Q“_S._ the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.

First year |

Part III — Commerce

BUSINESS ORGANISATION AND OFFICE
MANAGEMENT .

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

(5 x 20 = 100 marks)

1.  What do you mean by Business? Explain in detail
the Nature and Scope of Business.

cuanflaid erampned eremen? cuemiisglen senenn LDHMILD
- Crréssens ellfeuns eflerd@mser.

2. What is Joint Stock Company? Discuss in detail
about the advantages and disadvantages of Joint
stock company.

sl um@ Bneuemd eerpre aatan? il (B LkiE
Fmieuengen perenwsar wHmID Samwaar b efeurs
éfeuil&aayb. .
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Rectify the mo:oéwmm errors :

. v L

(2) Purchases book over casts by ¥ 300
(for the month of March) - .

(b) Sales book has been undercasted by T 200

(¢) Purchase returns book has been over casted
by %75 o ‘

-(d) . Sales returns book has been under cast by
T 50.. )

&%9@553%&%9 E@mﬁm :
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gl L Ll (Hérerg (Lonmé wresHne) .

(=) efipueer gk T 200 Genpeurs sal.L U (Herarg)
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Reg. No.: ..

Q.P. Code : [07 DC 01/

- D 1001
| | 07 DCCA 01]

i | (For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.
First Year

Part Il — Commerce/ Commerce with Computer
Applications

PRINCIPLES OF ACCOUNTANCY

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.
SR (5 x 20 = 100)

1.  Prepare Trial .w&mdom from the following ledger
balance for the year ended 31.12.2014.

. T
i Capital 50,000
"~ Sales 1,77,000
Return outwards 50

Stock (01.01.2014) 30,000
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_mg:.ﬁ:m with cash book balance of 1,60,000 as

on 31.12.2015. Prepare a Bank Reconciliation
statement as on the same date after taking the
following into consideration :

5 B
(a} Cheque deposited but not collected * 7,900
(b) Cheque issued but not presented 11,000
(c) Interest credited in pass book
but not recorded in cash book 2,500

(d) - Bank charges debited in pass book
but not recorded in cash book 500

31.12.2015 - Qyrés el ey @muy T 1,60, 000
Demeumin %@qﬁm%%@mw_ il samsE sNsl_(Hid

Ligud surfigs sips prafic akd Cegiss Lsss
G mlienLids s (B g deeib.

() eallugpers eumiduicr Qeassiu L
srGereaast Getain eugel UL Tsg) 7,900
() enprsiuct srGaraaser eukidude.
QegigsiuL_rgg) . 11,000
(@) akd sarsdld aire) meaudsiLl L aul iy
Qyrés iy udey Qeiwuliureg 2,500
(%) euriud semsdid LHH MauESILLL el
Bl atd Cyrés art-q.60 udlay .- .
- Gawtiu_eSdene 500

6 D 1001

m%@cieq% .
&L et Een
m&:a:.o

Fa e

QU &H&E L6t REIEG

- @flemburb

QU wppd GuipSrs
@m:mﬁ@.@,@.

26 Slaplium

sor@sLy. (1)

eunél 5 e
sLefHCsTi

2_GTEEE Fned

Qeueflgnas snad

QUIN_en& WHNID euflger -
- ensWllmliy Qrrésn

- et ls Qrrésin

800

. 45,000

6,800
10,000

525

2,000
80,000
60,000

1,000

350

75
25,000
750

1,200

10,000

900
6,000

D 1001




1001 g

‘qheegLege suneeisge LweheME wEnwew gouwoel

‘[Te18p Ul saanjuaa JuIof Jo saxnjed] ay) urefdxy

- 2B weehunnesy ez

@eBrbtues RpSBe De@mbhues Nywro

I U0 BPOWWOIDY
w:m g epel], UOOMIDq SOOURIBYIP BY)  OIAM

. o .Gﬁﬁ%l_jﬂ_.:_..:b@
qteBie heigr w19 PEGI euwR
Eonnnuewey  ¢FFusn  epndgeis  ogT®

Deie “nnesrew NGB EIN@E soxg 2 0 (&

Buene@rnghiie BTn epewee Llowhin eewiFoFE

@nnnegha o¢ @ ewiegue GEnY 0 R Y (%)

TBuoue®InnFhe Badn wgees EFuunEiHn
eue@@re? 00L'z B swuy Ge1 FFHrep
DeidsuiiF i eued@re@euredds a1 Mm@y (&)

2102 908 whup®e gUH *1F Fresdiopn #30F
woue@FrOMRQ) Y .a%a@_cD TETnneehn@uwes
wwedieny oDrewr;n EIOF suog B ¥

'S00q 9y} UI opew sem A1juo -
ou Inq ‘Y00JS UI papnour aiam solg % ),
£q peuanjax QG 2 JO enea ayj3 o3 spoor) = (2)
ore
SAOUEBMO[[B 01 P3)1gep PUE POINOUOYSIP SBM
00,79 Y WO} paAtadal (g @ 10 Anboyd v (@

1001 i
/e siredal 0} pajIqep SeM pays [[ews e
Jo uoTBIS By A0J OOLE 2 10F I[Iq SABP[ING YV (&)

"SI0LIY 989Y] }531100 0} SALIJUS [BUINO[ DALY)
'Z10%'9°0g Papue 1eo4 81} 107 SUOG 29 Y[ JO §IUNOCOIE

34} Ul papnpep aram  sI0AI®  SUIMO[[O} Y]
v 063 2 BFEQusp wwwne (ms)
053 2 F2FQawp e (73)

000'T 2 Qeeuip $EYuep PeBeung (1)

@aa:@ qeFLAP)
_@._S@ 1qisy Bwemmmm.Ewm. srole> FgMmuengde ()

005'2 2 BTGe Deie PeBigTs (%)
| 000'2 2
@.@.n:w@ eEfMpuer, Dele @ﬂ@@l&@ﬁtq@. (te)

‘9DF weseheFr
@Jj@j@@ me=le)) @@ﬁ%@ﬁﬂh@@j pesdiy

06% 2 Y pred (¢
063 2 sedep pred (o)
000‘T » UWeYOA 0} Ysed preg ®)

. JUnoJdE SIY JO JUIWA[})OS
[Ny Ul UueIpUBRY]) WOJ] PIAledal yYse) ()

008°¢ 2 ueapuey() o3 spood plog (¢
000°% @ Weyop woJy spood aseyoing  (B)

: suooBSUELY Sutmor[of oy3 mm:mﬂ?on



D 1005 Q.P. Code: [07 DC 05/
07 DCC A 04]

‘(For the candidates m&iﬂam from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.
Second year
Part Il — Commerce/Computer Applications

PRINCIPLES OF MARKETING /MARKETING
- MANAGEMENT

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

1. Why marketing is importance to the Business?
Explain in detail the its functions.

auaisdSinsg sHmeIUDSEIEO gar  (WEEUSSENOTELD?
<igen LawcLimhsaner afleuflasaLb. |
2. Discuss in detail. about different . types of

Distribution channels and bring out what are the
factors influenced the choice of distribution.

L}

E%@?B_ QU HWITEN %@@Eam anflaeer unml affleurs
sfleund] wpmib eSHGuITshames Carelianan Lindagn
aryenflaamens QeualuLisss.
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Reg. No. : ..
D 1006 ~ QP.Code:[07 DC 06]

(For the candidates admitted from 2007 onwards) .

B.Com. DEGREE mxbngu_wﬂoz_ DECEMBER 2019.

Ammnosm Year
Part 111 — Commerce
BUSINESS STATISTICS

Time : Three hours . memE:E 1 100 B,mlmm
Answer any Eﬁw.a:mmaosm.

Each question carries 20 marks.

(5 x 20 = 100)

1. Explain the various types of diagrams used in
statisties. -

yeratlufuiedled PE@E:%_meC@B D%Q.@E

BUEDTLIL_MIHET 6T 6UsHEHEHeN 6T oflem .

2. From the following data, Calculate Mean, Em,&mb

and Mode.
Class m‘z.wmc.wbn%
10-15 8 )
15-20 14

20-25 . 18
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- Explain the methods of sampling.

ordfl er@uugesr uaGaumy pennaener cllaraGs.

From the following data, Calculate the Karl
Pearson’s coefficient of correlation. .

X Y

6 9

2 11

10 5

4 8 .

.8 o

Arithmetic Mean of X and Y are 6 and 8
- respectively.

Qemreump  efleurrisetadi(mbe sri®  Quisafen
RLBneis dagoaus sarsd (s,
‘ X Y
6 9
2 11
10 5
C 4 8
R |
X vpod Y dwuapder s Gésyrs apanpCGut
6 wHmw 8 YELD. .

|
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Qéraumid yeTefl edurtisamens Qaran( sreob eflwss

Gapelieanan sasrsdHis —
OHIGUETEET  WDTEMTEUTSEET eTERTEMN G
0-10 4
10-20 18
20- 30 48
30-40 68
40 - 50 78

From the following regression results, obtain two
regression equation and estimate the yield of crops
when the rainfall is 2 cm and rainfall, when the
yield is 600 kg.

, Rainfall Yield

‘Mean . 267 5084

Standard deviation -~ 4.6  36.8

r=0.52 .
m%wm:@& Ere(® 2 L& Q.&:er_,
soaUTHsErsEiu gaauaser sriul Gidera, Gogyw
erey 2 Qe earer Gurgy LT elepenFaanauyid,
eflenarésdr 600 AGer eater Cungy @meEDd LenLp
SiaTellanens &renTs. ’

wenp eTey  ellanerdad

grrefl 26.7 508.4
Al eflewssn 4.6 36.8

euo‘.mw.
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_ Reg. No. ¢ ...
D 1015 ~ Q.P. Code : [07 DCCA 05]
(For the candidates admitted from 2007 onwards)

. B.Com. (CA) DEGREE EXAMINATION,
DECEMBER 2019,

‘ _ Second year
Part III - Commerce with CA
DATA BASE MANAGEMENT SYSTEM

Time : Three hours "Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marks
(5 x 20 = 100)

1. Define Database and DBMS. What are the
advantages of "using a database over file
management system? Explain in detail about
various Data models in DBMS with neat sketch. ..

2. What is an Entity? Give the meaning of
relationship? Describe ER modeling with the help
of database for a Student Management System.

3. © What are the main components of SQL? How do
we create table, views and index using SQL
commands? How does a database trigger differ
from stored procedure?

Discuss the methods of implementing join queries.
Explain how you could estimate costs while
performing query processing?

Explain the third E&..Em» form and boyee codd
normal form with examples. Mention the -
advantages of PL/SQL.

A
Why would you choose a database system instead
of simply storing data in operating system files?
When would it make sense not to use a database
system?

Examine the various types of keys that are used in
relational model. Distinguish between Relational
Algebra and Relational Calculus. -

Explain about domain constraints and referential
integrity with examples. Identify the concept of
error handling. . .

2 D 1015
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T@.v Qerggibaar Gemeumonm ehlhsenen
Qaudul’ L g o

: S
sreadlmiy” 45,000
gLeamraflser 18,500
Qupdlpd - 89,500

(=) &feys Qeaweysar T 1,100 g @w
(8) wbue sLafECasrt wpPaugd Cess UL L anf.
R’ opgid ‘S @aerugens 3:2 ellflgsHeo Ldins
Q& mewrLan.
- Gaenauwren CUGYL (5 semsGamen LT Qe
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Discuss in detail 26 rule applicable in Garner Vs
Murray case. ‘
arient Vs wpiCr eupsdan aldfleow  offieurs

T (RS HIENTHEERLD.

Explain the features of single entry system.
ghen Ldley epenpulien Gudsmer efleré s
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Reg. No. 1 ..
D 1004  Q.P.Code: [07 DC 04/07 DCCA 03]

(For the candidates mmamgmm from 2007 os?mamv
B.Com. DEGREE HQEHZ;&A.HOZ Umomgwmw 2019.
anosm <mm:.

Part II1 — Commerce/Commerce with OOBv:amu

Applications
FINANCIAL ACCOUNTING
Time : Three hours , Maximum : 100 marks

Answer any FIVE questions.

All questions carry equal marks.
(5x 20 =100)
1. A machinery was purchased on E.S.MSQ for
T 40,000 the same year in June another machine
was purchased for T 15,000 and T 5,000 were
spent on its installation. On 30.06.2012, the
second machine was sold for ¥ 15,000.
" Prepare machinery alc upto 31.12.2012 .v%.
depreciating it at 10% under reducing installment
method.
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2,40,000 -

elpsiul L g, @opgs Qe

01.01.1995 wemmy A & Co. T 9,250 -é@ Gubdnbd
genen aurmigwug. Cogib 2L agwurs, AneeusneE -
T 750 Qm@W%E@ 01.07.1996 ey wHG@mmm
Bupdrd T 2500-6@ ermstiLLg. Gugid
01.07.1997 =yemmy 1995-6 aurmdn pgd @Em%ﬁmg.@
¥ 7,000-55 opsiul g <G prefid Guaub ef
QusHrd T 6,250 eurmstinlLg. 01.07.1998 sianpy
¥ 2,500-6@ auridlu @rarr_reug @Ew%qm&ﬁ Z 500
C gy gpapuia
<@g ME 10% Caliwrend Sasii Geuamid.
gemauft. 01, 1995 pgé preng &aa@m@mm:ma
@EH&q EETEDE H(T56.

Define ‘Royalty’. Explain ﬁrm features of wgm_a\..

-agreement.

‘s flenng Cprans | @gsms dgras - ecemnum:
P_mms_bm Carens @uUBEESH e QudLisamen eflarsEs.

5_ keeps his books under me;m 9:5\ mwmﬁmﬁ :
From the following information, prepare Trading,
profit and loss A/c and balance sheet as on
31.12,1991.
Assets and Liabilities
31.12.1990 31.12.1991

()’ (T)
Debtors 16,300 21,250
Stock . © . 8,330 11,220
Furniture 850 850
- Creditors - 5,100 3,780
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D 1007 Q.P. Code : [07 DC 07]
(For the candidates admitted from 2007 onwards)

B.Com. DEGREE EXAMINATION, DECEMBER 20189,
Second Year
Part III — Commerce
COMMERCIAL LAW AND COMPANY LAW
Time : Three hours " Maximum : 100 marks

Answer any FIVE questions.
(6 x 20 = 100)

1. What do you mean by Contract? State the reasons
for breach of contract and bring out it's remedies.

FUUBSD  eTenmmed arenan? UGBS . i eyderan
STYERTRIEGT WHHID Digen Sresamer DauallLuBsgs.

2. Explain in detail the rights and duties of a buyer
and seller under the contract of sale of goods Act.

sré6@ oMpueen sLgHen D eummigLieut wHPID
sfpuemenureriien 2 flennaser WpEID  SLenLEEET
eSfleurs eflerd@t sar. .
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| Reg. No. :
D 1008 Q.P. Code : [07 DC 08]
. (For the candidates mmE:.am&. from 2007 onwards)
B.Com. UMQNHH EXAMINATION, DECEMBER 2019.
Second Year
Part 11l — Commerce

COST AND MANAGEMENT ACCOUNTING

Time : Three hours Maximum : 100 marks .
>=mém”~. any FIVE questions.

Each question carries 20 marks.

1. What are the limitations of Financial Accounting?

B8 samsfluich eugbLseT wreneu?

2.  In a factory, component A is used as follows :
Normal usage : 50 Kg. per week
Minimum usage : 25 Kg. per Sm.mw
Maximum :mwmm : 75 Kg. per week
Re- order quantity : 300 Kg.

Re- order period : 4 to 6 weeks.



8001 d : [4
‘PBJISIP ST SPAJEA (0GZ'E JO J007S L3]S
B PUE J19pI0 JO 2)ep 9Y) WO} AISAI[ep oAleal
0} sAep Gf soye} 1] "g1 "SY St AIeal[ep oy ssacoxd
pue Ispio ue ave[d 03 7800 8y, 'SISBQ [ENUUR
UEe U0 jusw}saAul Alojuoaut ofevisse Jo y%(OF
9q 0} pajRWIISD 81 1800 SUTALIeD 9] pue sorpuEenb
ut Jy8noq usym jtun xad (g1 '5Y 1800 SOATRA OY],
‘Yyuow rad seA[eA
0629 3e juelsuod A(aref s1 adesn ayj pue aesk 1ad
saA[eA 000°GL IMoqe esn Auedwod dund unjdung

@ Drun yeuse ()

QGG ooy #NSTTee® ()

feole sineFle> (%)

aw g D@uild Ga (6)

D e ) prues v uedremrodremn

wertire g eF § qreue i Bn

ueeE O0E | hewie geoyre Ma

DAFFLure vy ¢/ - Quruemn sneFe

quiure W& uweyy ¢z (Qunsermn s INETTCeD
ue|F 0¢ PEFFLere : Qurwernn wunemi

GO pONNSEDHNLermn

i reem v Cue weprewssdfiugo
- ‘ [8A9[ yo03s advioay  (p)
PUE [9A9] Wnwurw ()

[eAS] wnwixew  (q)

[9a8] a9pI0-a1  (®)

Vv jusuodwod 10§ a3BINI[R))



What are the Essentials of a good budgetary
control system?

.@@ B aurey deme) sams@ s HUUTH apepules
Silq LILIGNL eTebea?

The following details are obtained from ABC. Ltd.

For a particular year :

Production and sales 8,000 units
mmEsw price per units Rs. 20
Variable cost per unit Rs. 10
Fixed cost (total) Rs. 40,000

Calculate P / V ratio, Break-even-point and
Margin of safety.

Wenaumy eleuriuser ABC. Ltd. QdmrE @
GO aum Sl GupliLiGélemen.

2 HusH whmw efpuener 8,000 Bia @
slpuemen eiiera (. 20 DG pem&S
rEL(HILD S5 e . 10 i@ pamss
Blenevwren Qeaey (Arss) . Ao_.ooo

/el eSldlgw, gwhlene T, UTZISTIL  Biemey
(Margin of safety) s dweipenn sansdiayb.
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You are required to determine ;

(@) The most economical order quantity and
frequency of order,

(b) the re-order point,

(c) the most economical order quantity if the
valves cost Rs 4.50 each instead of Rs. 1.50
each.

et uwl Bimieuend eumLsdpeE 75,000 eundeysenen
vwenGépg. womd vweawt® wissdneE 6,250
euneyaset eramm MHleneufled e creng). eumedeymer. el
pams@ . 1.50 ey@ib. Q&:&ﬂ@ daagid GQewey
sy FT6G (P lgeh 20% eren semtéAlL 1L (HeTens;.
R BT QuPRIGUSHETET Qaway WHHLD Digamen

Qewe  waplu@sgashetea  Qswey m. 18

sr&@Gamer dumeugd @ LT Qaig Codulampe 45

BIL&ET SL@EWD. UngETULU eurdeysallan eremant&ans

3,250 @b, Bellit memradl Geucimig wig.

(@) Waand HAssaorer QUEIEG leTey HmIb
< TLMen srew GanGeuarfl

(<) o gpemen sjemey

(@) eumévellanr wdiry 5. 15065 ufars @ 4.50
aTertled Wilgey b Hasen <y emenr iaTal.
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From the following information, prepare a
production Budget for each month and
summarized production cost budget for the six
months of 2007 (and only the sales of January
2008) in respect of product X :
(a) The units to be sold in different months are :

July 2007 1,100

August 2007 1,100

September 2007 1,700

October 2007 1,900

November 2007 2,500

December 2007 2,300

January 2008 2,000

(b) There will be no work-in-progress at the end
_ of any month.

(¢} Finished units equal to half the sales of the
next month will be in stock at the end of
every month (including June 2007)

(d) Budgeted production and production cost for
the year ending 31%t December, 2007 are as

follows :

Production (units) 22,000
Direct materials per unit Rs. 10
Direct wages per unit Rs. 4

Total factory overhead apportioned to
product Rs. 88, 000.
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31 e wmiE 2016 &qm&QEm T (AT
sansGapmefley @mps  Guplule feurkiser
Geneu(pLomm :

(=) aumrmpdly Conss  elpueser . 10,00,000
wHmb Qwrss elpuenar ap. 12,00,000

(<) ens@a@sstar  QegissCaudmgy  Qsrems

 Qurgsb . 7,80,000 @b,

(@) cweddmps Qmpg  Qupliult  Osras
em. 7,60,000.

() @ 2,20,000 Qm@@&n_c_.lr CUTL G0, UL
Lnés p. 20,000

() e 10 wHoyerw  4,00,000 umigser
e5. 48,00,0008@ GeuafluG@Liin’ L g).

(ear) o usyewmiiser @p.  16.80,000 Qunéssgss
GUITEISLIUL L &t

(er) 10,00,000 emuML LRIETHTLID 2PlefldsrLc g
Spenmed @engnd bFagsiiu Geuer(hib.

() phesu ergd Sdellssiiu’L ep. 4,00,000
LRISTSTULD eUPISIILIL L g).

() 160,000 emumi usss wHlyerer gm &mad
2,40,000 epumiis@ sfipsucLg).

(@) Qrréss sewméd m. 37,20,000 g5 afafssa).
Gorg  apeepanul) EE@E@.@& LIemTUIL|Lp&S

Sifidensen SumildEgEeayb.
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‘me. No.: ...
D 1011 Q.P. Code: [07DC 11]
(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.
Third year
Part III — Commerce
BUSINESS COMMUNICATION
Time : Three hours Maximum : 100 marks

Answer any FIVE questions.
(6 x 20 = 100 marks)

1.  What do you mean by Business Communication?
Discuss the role of effective business
communication within and outside the
organization.

cuanils seeud Gam_riy eremmmred ereman? Hmeuansshs
ceaGaryd QeueliGuiyd cuanfls goeud GsmemSen
uiiflanar efleurd). .

2. Enumerate the various kinds of Business Letter
and Sketch its Structure.

ueGan aumsurar cuamfles sugsms darsdl oigen
Dol UEnTS.
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Reg. No. ! e ................
D 1010 A Q.P. Code: [07 DC 10]
(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.
Third year
Part 11l — Commerce
PRINCIPLES OF §>Z>ngm26
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

1.  State the nature of Management and proved
Management is a Science as well as Art.

Guememenwuier gaflggeamemwulanear GHYGs wHpb
Coereamnens @ sPleflwd whpb sme aTaTumg
Bodss. X

2.  Enumerate the process of Decision making and list
" out the problems which influence the Decicion
Making process is an organization.

Wiy Geupsselen Cauduampay efleufléson wHpD

@ Boeuasdle upylau@sgnd Qeudapanpulig)drer
Hssdamer U IguedHs. .
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D 1009 ~ Q.P.Code:[07DC 09]
{For the nmb&mmnmm admitted from 2007 o_=e<mummv
B.Com. DEGREE EXAMINATION, DECEMBER 2019.

Third Year |
Part III — Commerce
CORPORATE ACCOUNTING
Tiine : Three hours Maximum : 100 marks
Answer any FIVE questions.
All questions carry mnzmw marks.
(5 x 20 = 100)

1. Borewell Co. Limited offered to public 50,000
- ghares of Rs. 100 each at a discount of Rs. 6 per
share payable as follows:

Rs. 25 on application
Rs. 34 on allotment
Rs. 15 on first call
Rs, 20. On final call
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From the following, compute the value of goodwill
under all methods. Average capital employed is
Rs. 10,00,000. Normal rate of profit is 10% for
2014- Rs. 1,40,000, 2015- Rs. 1,22,000 and 2016-
Rs. 1,70,000. Profit for 2015 has been arrived at
after writing off abnormal loss of Rs. 10,000 and
profit of 2016 include non-recurring income of
Rs. 22,000. Goodwill is to be calculated on the
basis of 3 years purchase of super profit. The

present Amﬁsm of annuity is Rs. 24,868.

Spseam_cupdles QmHa. a@mensg aufapapsafien
& pewflemu  samsdps.  ermefl  apegand
5.10,00,000. egmeflwrer Geamru sldgn 10% =y@h.
2014~ em, 1,40,000, 2015-gs. 1.22,000 opgud
2016—em. 1,70,000. 2015 &anen Eeomunmeng,
osngnrerr @iy @.10,000 seos sangruy GQeils
Upe deussy wppd 2016dar @mutb  Qgrigr
eumonand 5.22,000 geng o dremgsdug. swAls
QTSNS (PEHID  QUHL-MISEBRSE@ UTRIGHSW 6remm
SiqlinenLufley  perwdlmu  samrdd Ceuem(@ib.

<@ {H Asrensulen sHGUTEnSW UL em. 24,868.
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(@) speoemib auyhiGamheE m.8,50,000 sLafl @
ugAob eupmsliu’Lg).

() sl ugdrmser s WHIND euprasLL L g
wHpD s wHNIG Al QsgissiiuL
Couam(Bib.

(2) sLafil®  ugdyisar 5%  gemErLgWI
QUPmBILILL 6T ; Sieneu 4% (penamosdlcs Smind

- GegusgliuL. Geuar(Bib.

(oar) cumdGib m.7,00,000 sLgnéE Geoamuwns
aLaf () usSyiiser auprisiu Lar.

(er) B ugdlglisar  © aps wdlnde
CeupEISLLIC L@, Setté  eneu 10 sgeis
SET(EHLLLg clienavulied Hmrg
Qegussiiu.Gauam{Hib. .

{g) swafil® ugdymsear 10%  semenuguleD |

QUPERISLLILL G gienmer  Sienel 5 ssels
garenig  elwmouie  Houds  Qequssiiu
CeuamrHib
() s afil® uvgflyhser 10 sgels aanosddao
QupRISLILICL . e 5 Fgeis (paranngded
Hpuhls Qegussiiu Gouam(Rib.
Difference between Debentures and Shares and
explain the methods of redemption of debentures,
s UgHriusar whmib ungsd o Cu o der
Cougunhsemer eflersd sLean ugdntisafien Berdlmiiy
aulfl penpaeer eflerdsay.
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Reg. No. ;.
D 1012 | Q.P. Code : [07 DC 12]
(For the omﬁ&mmﬂm admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.
Third Year
Part III — Commerce
AUDITING
Time : Three hours gmﬁb\gca : 100 marks

Answer any FIVE questions,

(6 x 20 = 100)

1. List out the various types of Auditing and explain
in detail about its advantages and Disadvantages. -

vGeup auemswrear sealldmasmar UL gL Digen
BeenL&eT Hpb Fenweser L efleufidameyib.

2. Who is an Auditor? Discuss in detail about what
are the qualities required for an Auditor.

parf|senamani eremLeU WTT? G Sl EamaswTeT(HHE
Gganauwnen gefigfnenser wreveu eremuengl ubd
efifleurs eeurd).
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Reg. No. :

D 1013 Q.P. Code : [07 DC 18]

(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2019.
ﬂma Year,

Part ITI — Commerce
BANKING LAW AND PRACTICE

Time : Three hours : Maximum : 100 marks
Answer any FIVE Questions
(5 x 20 = 100 marks)

1. Bring out the special features of RBI, and explain
the different techniques of RBI credit control
measures.

feires cumdlber Apliy ibemsmer Ceualls CaramTa
woHpn  Mereu  emdlar  sLa  sLBHUUN(
pLeugsassaiian LG HLukismer eflaTégmn s

2. Discuss in detail the special features of Indian
Banking Regulation Act, 1949.

Gpdu amdulive euag peops slLb, 19496
Spliy sibeiset GHisg eflfleurs elleurflésalp.
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(a) The debentures are issued at Rs. 90 each

(b) ° The debentures are issued premium of 10
per cent.

{(¢) The debentures are issued at a supplier of
furniture amounting to Rs. 8,50,000

(d) The debentures are issued at @mu and

. repayable at par.

(e) The debentures are issued at a &mnosbﬁ of 5
per cent and repayable at a m:.mEEE of 4 per
cent.

{f) The debentures are issued as a collateral
security to the wmbw against a loan of
Rs. 7,00,000

(g) The debentures are issued at par but are
repayable at a discount of 10 per cent.

(h) The debentures are issued at a discount of 10
per cent but are amvm%mgm at 5 per cent
discount.

(i) The debentures are issued at 10 per cent

_ premium but are redeemable at 5 per cent
premium.

sveusivudls eNAGILL 8,000 sLat B usrsens . 10

aSgib 8% @@ QeuafudiLg). cuprisiiul L samarss)

sLaf (U usfymseEnd ahsHE Csrareriul (),

LewTid eupriiE Ll L e, Aeeumuencu geuQeumandlhEid

Bmicuansdlen L Ggam safler reysmmen HHe.

(=1) sLall @ ugHyriiser @5.90 - ez
Qeuafluf_ i’ e

(9) 10% @eewsgde s afl@® - usdriser

Geuefiudl LI’ L.

4 D 1009

The following particulars relating to a Limited
Company which has gone into voluntary
ligquidation. You are required to .uwmﬁmwm
liquidators final statements of accounts after
allowing for his remuneration @ 3% on amount
realized and 2.5% on the amount paid to

unsecured creditors except preferential creditors.
12,000 Equity shares of Rs. 10 each, Rs. 8 paid up

Assets realized Its. 9,24,000 excluding amount
realized by sale of securities held by dmmnﬁ.mm
creditors. Preferential creditors Rs. 24,000;
Unsecured creditors Rs. 8§,51,094; Secured
creditors (Security realized Rs.. 1,62,000) Rs.
1,38,000; Debentures holding a floating charge on
all assets Rs. 3,00,000; Expenses of liquidation

Rs. 9,000. A call of Rs. 2 per share on the partly

paid equity shares was duly paid except in case of

one share holder owning 1,200 shares.

9 D 1009
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The company received application money on 70000
shares and rejected the excess application. All
money was received except from a shareholder
holding 1000 shares who did not pay money on
final call. Those shares were forfeited and re-
issued at Rs. 65 per share as fully paid. Journalise
these transactions in the book of company and
prepare the balance sheet
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